
Suppliers of Oil & Grease Equipment 166916691669

GREASING & LUBRICATION EQUIPMENT

Distribution Elements

Aluminium Junction, Metric

0502
     

22653  M10 x 1  M8 x 1  2 2 3.35
22654  M10 x 1  M8 x 1  2 3 3.70
22655  M10 x 1  M8 x 1  4 2 4.55
22656  M10 x 1  M8 x 1  5 2 5.25
22657  M10 x 1  M8 x 1  6 2 5.65
22658  M10 x 1  M8 x 1  7 2 6.55
22659  M10 x 1  M8 x 1  8 2 12.85

Aluminium Junction Bars, Metric

0502
     

AJ138  M10 x 1  M10 x 1  2 2 6.85
AJ139  M10 x 1  M10 x 1  3 2 8.25
AJ140  M10 x 1  M10 x 1  4 2 9.50
AJ141  M10 x 1  M10 x 1  5 2 12.30
AJ142  M10 x 1  M10 x 1  6 2 12.90
AJ144  M10 x 1  M10 x 1  8 2 15.50

Tech Sheet 
68143

Junction Bars, NPT

0502
     

B3262  1/8”  1/8”  2 2 3.15

Junction Bars Single Sided, UNF

0502
     

B3263  5/16”  5/16”  3 2 3.50
B3264  5/16”  5/16”  4 2 3.85
B3265  5/16”  5/16”  6 2 5.15
B4508  5/16”  5/16”  7 2 6.40
B3704  5/16”  5/16”  8 2 7.15
B3471  5/16”  5/16”  10 2 8.15

Tech Sheet 
68144

Junction Bars Single Sided, Metric

0502
     

20348-10  M8 x 1  M8 x 1  8 2 5.55
20348-4  M8 x 1  M8 x 1  2 2 2.90
20348-5  M8 x 1  M8 x 1  3 2 3.05
20348-6  M8 x 1  M8 x 1  4 2 3.30
20348-7  M8 x 1  M8 x 1  5 2 3.95

Tech Sheet 
68146

Junction Bars Double Sided, UNF

0502
     

B3109  5/16”  5/16”  6 2 3.30
B3254  5/16”  5/16”  8 2 5.90

Manifolds are for use with Distribution Elements found on page 1668 
Refer to tech sheets for more information. 

www.hydraquip.co.uk


